Stanthorpe Bridge Club Compscore2W7

THURSDAY (4-JAN-18) -

NS Pr EW Pr Contract Declarer Lead Result <-- Score --> NS EW
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4S S KD +1 450
4S N AC -1 -50
3C N KD +1 130
3 6 3C E 5D -1 50 1 3
3S E AH -2 100 4
3H 9D -1 50
3 6 1HX N 4D = 160 4 0
4 3D AS il 100 1
2D E TH -1 100 1
3 6 4S8 E 3H -4 400 3 1
1D E 5D +3 -130 0 4
3NT w 9H -4 400
3 1 3NT w 2H -1 50 4 0
INT w 2H +2 -150
5 INT w 3C = -90
3 1 4HX S KC = 590 4 0
4H S KC = 420
3S E TH -2 200
3 1 3C w AD = -110 0 4
3S E 6C -3 300
2S E 6D -3 300 1
3 1 4S S 4H -1 -50 1 3
4S S KH =il -50 1
3S S KH +2 200
5 1 3S S QH -2 -100 0 4
3S S 5H -1 -50
28 S 5H -1 -50 1
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3NT E 4C +1 -630
28 w 4C = -110
28 w 7D +2 -170
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Stanthorpe Bridge Club Compscore2W7

THURSDAY (4-JAN-18) -

NS Pr EW Pr Contract Declarer Lead Result <-- Score --> NS EW

H

5 1 4CX E KH -4 800 4
2C w 6S =il 50
2NT w 6S -1 50 1
e
5 1 4S N AC = 620 3 1
4S N 7H = 620
28 S KH +2 170 4
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2H N AD -1 -100
28 S 3D il -100
3S S 7D -3 -300 0 4
e
1 7 28 w 4C = -110 2 2
1S E 7D +2 -140
4S w 4C -2 100

[
~
N
o

3S E AD +1 -170
4S E KC +1 -450
4 4S E AD = -420
S
1 7 5D N 28 +1 420 3 1
6NT S 6S -4 -200 0 4
5D N 28 +1 420
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2NT 7C = -120
3NT N 4H =il -50
4D S AC -2 -100
S
6 4 3C E AS = -110 3 1
2H E 9D = -110
3NT w 6D +1 -430
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6 4 3NT S 8H = 400
4S S 3D = 420
4S8 S AH +2 480
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4H N AS -3 -300
4H N KD -1 -100
4D w AC = -130
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Compscore2W7

Stanthorpe Bridge Club

THURSDAY (4-JAN-18) -

NS EW

NS Pr EW Pr Contract Declarer Lead Result <-- Score -->
1 4 3C S 2D = 110 2 2
7 5 2D w 2H = -90 0 4
8 6 1C S 9s +5 170 4 0
1 4 58X N AC -3 -500 4 0
7 5 4H E AD +1 -650 1 3
8 6 4H E AD +1 -650 1 3
1 4 4S w TC +1 -650 4 0
7 5 6S W 3D +1 -1460 0 4
4C +3 -690 2 2
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1 4 -500
7 5 3C w 5H = -110
8 6 28 N KC -1 -50 4 0
1 6 3NT N 4C +1 430 4 0
4 3 3D S 7C = 110 2 2
8 7 4H S 7C -2 -100 0 4
1 6 5D w H +1 -620 1 3
4 3 5D w 7H +1 -620 1 3
w 7H +3 -170 4 0
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1 6 S AH +2
4 3 3NT N 2H AL 430 4 0
8 7 4C S KH +1 150 2 2
1 6 4S N AH -1 -100 4 0
4 3 4s N 2H -3 -300 0 4
8 7 48X S 5C -1 -200 2 2
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